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QUESTION 1

A customer is upgrading an existing ERS 8610 with the 8692SF to software version 7.x. Which statement regarding the
upgrade is correct? 

A. The customer must upgrade the 8692SF to an 8893SF for software release 7.x. 

B. The customer can run 7.x with the existing 8692SF, although some features will be disabled. 

C. The customer can add the SuperMezz module to the 8692SF and run release 7.x. 

D. The customer must upgrade to an ERS 8810 chassis to run software release 7.x. 

Correct Answer: C 

 

QUESTION 2

A technician has complied me configuration of an Ethernet Routing (ERS) 5520 to and now must transfer a backup copy
of configuration file to server. Which command is used to accomplish this task? 

A. 5520.24T-PWR> copy config ftp filename ers5520 config.cfg 

B. 5520-24T-PWR# copy config ftp filename ers5520config.cfg 

C. 5570-74T PWR# copy config tftp filename ers5520COnfig.cfg 

D. 5520-24T-PWR# copy config scp filename ersS520conftg.cfg 

Correct Answer: C 

 

QUESTION 3

You are configuring a QoS Policy on an ERS RS or 8800 module to police the ingress data rate on a port with the
following ACLI command on the interface level: qos if-policer police-rate 10000. What other two ACLI commands are
required on the edge interface? (Choose two.) 

A. (config)#interface qos enable. 

B. (config-if)#enable-diffserv enable. 

C. (config-if)#access-diffserv enable. 

D. (config-if)#no core-diffserv enable. 

Correct Answer: BC 

 

QUESTION 4

To provide load distribution across two or more equal cost paths in a Layer 3 routing environment, the ECMP feature
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can be used to maximize load sharing. Which two statements correctly describe the ECMP features? (Choose two) 

A. All ECMP next hop addresses are in the routing table 

B. ECMP keeps traffic between two IP addresses on one single path. 

C. All ECMP paths are active and forwarding traffic. 

D. ECMP routes apply to OSPF, RIP and BGP only. 

Correct Answer: AC 

 

QUESTION 5

On the Ethernet Routing Switch (ERS) 8800, the Virtual Routing Forwarding (VRF)-Lite feature supports multicast
virtualization. Which statements about multicast virtualization are true? (Choose two) 

A. Multicast virtualization is fully supported in high availability mode and there is no interruption to traffic in the event of
the failure of a CPU. 

B. Multicast virtualization requires version 7.1 or later. 

C. To facilitate multicast route redistribution between VRFs, an external unicast edge router is required. 

D. Many IGMP and PIM commands that you use on the Global Router also apply to VRFs that create. 

Correct Answer: AD 
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